



St. Louis County, Minnesota

Date of Report: 4/27/2025 2:58:24 AM

**General Details** 

 Parcel ID:
 450-0010-03100

 Document:
 Abstract - 1350211

 Document Date:
 02/14/2019

**Legal Description Details** 

Plat Name: MIDWAY

Section Township Range Lot Block

19 49 15 -

Description: SW 1/4 OF SE 1/4 EX 2 2/10 AC FOR HWY AND EX 1 36/100 ACRES ON NORTH SIDE

**Taxpayer Details** 

Taxpayer Name SUPERIOR REFINING COMPANY LLC

and Address: C/O CENOVUS ENERGY INC

225 6 AVE SW PO BOX 766

CALGARY AB T2P 0M5

**Owner Details** 

Owner Name SUPERIOR REFINING COMPANY LLC

**Payable 2025 Tax Summary** 

2025 - Net Tax \$20,970.00

2025 - Special Assessments \$0.00

2025 - Total Tax & Special Assessments \$20,970.00

**Current Tax Due (as of 4/26/2025)** 

Due May 15		Due October 15	5	Total Due		
2025 - 1st Half Tax	\$10,485.00	2025 - 2nd Half Tax	\$10,485.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$10,485.00	2025 - 2nd Half Tax Paid	\$10,485.00	2025 - 2nd Half Tax Due	\$0.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$0.00	

**Parcel Details** 

Property Address: 5746 OLD HWY 61, DULUTH MN

School District: 704

Tax Increment District: 
Property/Homesteader: -

	Assessment Details (2025 Payable 2026)										
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity				
233	0 - Non Homestead	\$252,100	\$3,248,000	\$3,500,100	\$0	\$0	-				
	Total:	\$252,100	\$3,248,000	\$3,500,100	\$0	\$0	69252				





St. Louis County, Minnesota

Date of Report: 4/27/2025 2:58:24 AM

**Land Details** 

Deeded Acres: 36.44 Waterfront: Water Front Feet: 0.00

Water Code & Desc: W - DRILLED WELL

ater Code & Desc.	W - DRILLED W	ELL					
as Code & Desc:	-						
wer Code & Desc:	S - ON-SITE SAI	NITARY SYST	EM				
t Width:	0.00						
ot Depth:	0.00						
e dimensions shown are no ps://apps.stlouiscountymn.	ot guaranteed to be s .gov/webPlatsIframe/f	urvey quality.	Additional lot	information can be f here are any question	ound at ns, please email PropertyTa	ax@stlouiscountymn.gov	
				Details (22X54)			
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc	
UTILITY	1985	1,1	88	1,188	-	-	
Segment	Story	Width	Length	Area	Foundati	on	
BAS	1	22	54	1,188	FOUNDAT	ION	
		Improv	ement 2 [	Details (38X48)			
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc	
UTILITY	1990	1,8	24	1,824	-	LT - LT UTILITY	
Segment	Story	Width	Length	Area	Foundati	on	
BAS	1	38	48	1,824	FLOATING SLAB		
		Improv	ement 3 [	Details (12X30)			
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc	
UTILITY	1990	36	0	360	-	LT - LT UTILITY	
Segment	Story	Width	Length	Area	Foundati	on	
BAS	1	12	30	360	FOUNDAT	TION	
		Improv	ement 4 [	Details (12X38)			
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc	
MECHANICAL BUILDING	0	45	6	456	-	-	
Segment	Story	Width	Length	Area	Foundati	on	
BAS	1	12	38	456	PIERS AND FO	OOTINGS	
		Improvem	ent 5 Deta	ails (WEST BLD	G)		
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc	
MATERIALS STORAGE	2023	2,3	20	2,320	-	MO - MATL OPEN	
Segment	Story	Width	Length	Area	Foundati	on	
BAS	1	0	0	2,320	FOUNDAT	ION	





St. Louis County, Minnesota

Date of Report: 4/27/2025 2:58:24 AM

		Improve	ement 6 D	Details (30X70+)		
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc
MATERIALS STORAGE	0	3,00	06	3,006	-	MO - MATL OPEN
Segment	Story	Width	Length	Area	Foundat	ion
BAS	1	12	12 18 216		FOUNDAT	TON
BAS	1	18	25	450	FOUNDAT	TON
BAS	1	30	8	240	CANTILEVER	
BAS	1	30	70	2,100	FOUNDAT	TON
		Improv	ement 7	Details (12X14)		
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc
MECHANICAL BUILDING	2024	16	8	168	-	-
Segment	Story	Width	Length	Area	Foundat	ion
BAS	1	12	14	168	FLOATING	SLAB
		Improv	ement 8	Details (16X28)		
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc
UTILITY	0	44	8	448	-	EQP - LT EQUIP
Segment	Story	Width	Length	Area	Foundat	ion
BAS	1	16	28	448	FLOATING	SLAB
		Improv	ement 9	Details (12X16)		
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc
MECHANICAL BUILDING	0	19	2	192	-	-
Segment	Story	Width	Length Area		Foundation	
BAS	1	12	16	192	FLOATING	SLAB
		Improv	ement 10	Details (7X10)		
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc
UTILITY	0	70	)	70	-	EQP - LT EQUIP
Segment	Story	Width	Length	Area	Foundat	ion
BAS	1	7	10	70	FLOATING	SLAB
		Improv	ement 1	1 Details (5X9)		
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Des
MATERIALS STORAGE	0	45	5	45	-	MC - MATL CLSD
Segment	Story	Width	Length	Area	Foundat	ion
BAS	1	5	9	45	FLOATING	SLAB
		Improve	ment 12 I	Details (CONEX)		
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Des
STORAGE BUILDING	0	16	0	160	-	-
Segment	Story	Width	Length	Area	Foundat	ion
BAS	1	8	20	160	POST ON GF	ROUND
		Improve	ment 13 I	Details (CONEX)		
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc
STORAGE BUILDING	0	16	0	160	_	_





St. Louis County, Minnesota

Date of Report: 4/27/2025 2:58:24 AM

0	Ct a m .	\A/: -141-	السسما	A	Faces de de	<u> </u>				
Segment	Story	Width	Length		Foundatio					
BAS	1	8	20	160	POST ON GRO	טאוטק				
		Improve	ement 14	Details (TANK)						
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.				
	0	999,9	999	999,999	-	ST - STORAGETNK				
Segment	Story	Width	Length	Area	Foundatio	n				
BAS	0	0	0	999,999	-					
Improvement 15 Details (TANK)										
Improvement Type	Year Built	-		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.				
7	0	7.18		7,182	-	ST - STORAGETNK				
Segment	Story	Width	Length		Foundatio					
BAS	0	0	0	7,182	-					
	-	Immuna		·						
	Va an Badh	-		Details (TANK)		064-0-4-0 0				
Improvement Type	Year Built			Gross Area Ft <sup>2</sup>	Basement Finish					
0	0 <b>St</b> om:	4,00		4,000		ST - STORAGETNK				
Segment	Story	Width			Foundatio	n				
BAS	0	0	0	4,000	-					
		Improve	ement 17	Details (TANK)						
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.				
	0	999,9	999	999,999	-	ST - STORAGETNK				
Segment	Story	Width	Length	Area	Foundatio	n				
BAS	0	0	0	999,999	-					
		Improve	ement 18	Details (TANK)						
Improvement Type	Year Built	-		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.				
	0	88,3	68	88,368	-	ST - STORAGETNK				
Segment	Story	Width	Length	Area	Foundatio	n				
BAS	0	0	0	88,368	-					
		Improve	mont 10	Details (TANK)						
Improvement Type	Year Built	-		Gross Area Ft <sup>2</sup>		Style Code & Desc.				
improvement Type	0	999.9		999,999	-	ST - STORAGETNK				
Segment	Story	Width	Length	· · · · · · · · · · · · · · · · · · ·	Foundatio					
BAS	0	0	0	999,999	- Touridatio	11				
<i>Br</i> (0										
		-		Details (TANK)						
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.				
_	0	8,00		8,000	-	ST - STORAGETNK				
Segment	Story	Width	Length	Area	Foundatio	n				
BAS	0	0	0	8,000	<u>-</u>					
		Improve	ement 21	Details (TANK)						
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.				
	0	30,0	00	30,000	-	ST - STORAGETNK				
Segment	Story	Width	Length	Area	Foundatio	n				
BAS	0	0	0	30,000						
		Improve	ement 22	Details (TANK)						
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.				
improvement Type	i tai Dulli	IVIAIII FIC	OIFL-	GIUSS AIRA FL	Dasement Fillish	otyle code & Desc.				





St. Louis County, Minnesota

Date of Report: 4/27/2025 2:58:24 AM

	0	999,9	99	999,99	99	-	-	ST - S	TORAGETN
Segmen	t Story	Width	Length	Ar	ea	Foundation		ion	
BAS	0	0	0	999	,999		-		
		Improve	ment 23 I	Details (	TANK)				
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Are	a Ft <sup>2</sup>	Baseme	nt Finish	Style	Code & Desc
	0	999,9	99	999,99	9		-	ST - S	TORAGETN
Segmen	t Story	Width	Length	Ar	ea		Foundat	ion	
BAS	0	0	0	999	,999		-		
		Improve	ment 24 I	Details (	TANK)				
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Are	ea Ft ²	Baseme	nt Finish	Style	Code & Desc
	0	4,00	00	4,000	)		-	ST - S	TORAGETN
Segmen	t Story	Width	. 5		ea		Foundat	ion	
BAS	0	0	0	4,0	000		-		
		Improve	ment 25 I	Details (	TANK)				
Improvement Type	Year Built	Main Flo		Gross Are	ea Ft ²	Baseme	nt Finish	Style	Code & Desc
	0	2,00		2,000	)		-		TORAGETN
Segmen		Width	Ū		ea		Foundat	ion	
BAS	0	0	0	2,0	000		-		
		Improve	ment 26 I	Details (	TANK)				
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Are	a Ft ²	Baseme	nt Finish	-	Code & Desc
	0	2,00	00	2,000	)		-	ST - S	TORAGETN
Segmen		Width	3		ea		Foundat	ion	
BAS	0	0	0	2,0	000		-		
		Improvem	ent 27 De	tails (P	ARKING)				
Improvement Type	Year Built	Main Flo		Gross Are	ea Ft <sup>2</sup>	Baseme	nt Finish	•	Code & Desc
PARKING LOT	0	34,90		34,90		•	-		ASPHALT
Segmen		Width			ea		Foundat	ion	
BAS	0	0	0	34,	900		-		
	Sa	les Reported	to the St.	Louis C	ounty Au	ditor			
Sale	e Date		Purchase				CRV	Number	
09/	/2011	\$609,000 (T	his is part of	a multi pa	rcel sale.)		1:	95237	
01/	/1994	\$1,500,000 (					1	02646	
		As	sessmen	t History	1				
	Class Code	Land	Bld	la	Total		Def Land	Def Bldg	Net Tax
Year	(Legend)	EMV	EM		EMV		EMV	EMV	Capacity
2024 Perioble 2025	233	\$175,900	\$702,	900	\$878,80	0	\$0	\$0	-
2024 Payable 2025	Total	\$175,900	\$702,	900	\$878,80	0	\$0	\$0	16,826.0
2000 D 2001	233	\$166,000	\$630,	100	\$796,10	0	\$0	\$0	-
2023 Payable 2024	Total	\$166,000	\$630,	100	\$796,10	0	\$0	\$0	15,172.0
	233	\$149,400	\$624,	400	\$773,80	0	\$0	\$0	-
2022 Payable 2023	Total	\$149,400	\$624,		\$773,80		\$0	\$0	14,726.0
		, -,	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		, ,				,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,





St. Louis County, Minnesota

Date of Report: 4/27/2025 2:58:24 AM

	233	\$149,400	\$624,400	\$773,800	\$0	\$0	-			
2021 Payable 2022	Total	\$149,400	\$149,400 \$624,400		\$0	\$0	14,726.00			
Tax Detail History										
Tax Year	Тах	Special Assessments	Total Tax & Special Assessments	Taxable Land MV	Taxable Buil MV	•	Taxable MV			
2024	\$19,738.00	\$0.00	\$19,738.00	\$166,000	\$630,10	0 \$	796,100			
2023	\$20,470.00	\$0.00	\$20,470.00	\$149,400	\$624,40	0 \$	3773,800			
2022	\$23,006.00	\$0.00	\$23,006.00	\$149,400	\$624,40	0 \$	3773,800			

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.